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e 1y T YR & ST HTg Sk 3 ot 1. is a device for applying heat
! e THY et ! e & fore arg to melt solder in attaching two metal parts.
T &g ST TR e ) A) Heater
A) BT B) Electric iron
B) Taifageh ST C) Induction heater
C) TeIH & D) Soldering iron
D) Hieefi ImaE

is a place where the soldering iron

T T 2 & Qiesiin o is placed during usage.
TRINT o Y TET ST R | A) Tool Box
A) 3@ S| B) Soldering Tool Box
B) Hieeh It wiaw C) Soldering Tool Stand
C) Hieefn 7 ¥s D) Soldering Box
D) Hieshi siaw
is used in removing soldered

fargq aftayr <t wmen ok woerg & fore e wires and components on printed circuit
gﬁr@aﬁémqﬁ@zﬁﬁaﬁ 3 Iyl boards for troubleshooting and repair
CORTER:] T AT foraT S | RMMRASES:
A) S L A) Desoldering tool
B) HieefT AW B) Solderingiron
C) WK C) Plier |
D) et D) Cutter
Y AT 1 1 G0 FA & 918 Aeshn Where do you put the soldering iron when
AT ) FEf W& ? you have finished with it ?
A) TS q'{. A) On the desk
B) Th SITST I B) On a piece of paper
C) TR R C) On the floor
D) ¥We W D) In the stand
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TR - B (Electronics Mechanic)

Instrument which transfers energy to
electric charges in a circuit is

A) battery
B) voltmeter
C) ammeter

D) galvanometer

A thermistor is a type of .
A) resistor B) switch

C) battery D) power supply

The most commonly used semiconductor is
A) Germanium

B) Silicon

C) Carbon

D) Sulphur

The capacity of a cell is measured in
A) amperes

B) ampere-hour

C) watts

D) watt-hours

Cells are connected in series in order to
A) increase the voltage rating

B) increase the current rating

C) increase the life of cells

D) none of the above
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A) wfeferfer gfemamer

B) g 3R Tehett e 1 U
C) WTgH{t 3R Fohett dicest T IFUE
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1. ‘omei’ &l w9 R
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A) ST feamga
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C) Ai-wgR feamw
D) Ufdra feargw
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10. The transformer turns ratio determines
A) the reflected impedance

B) the ratio of primary and secondary
currents

C) the ratio of primary and secondary
voltages

D) all of these

11.  ‘ROM stands for
A) Read Only Memory
B) Random Only Memory
C) Readily Oral Memory
D) Random Available Memory

12. Material used for construction of
transformer core is

A) Wood
B) Copper
C) Aluminium

D) Silicon steel

13. Arrectifieris a
A) Bilateral device
B) Linear device
C) Non-linear device

D) Passive device
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T 0101 & 2's BT HH 21
A 1110 B) 1010

C) 1011 D) 0000
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A) areifid

B) e

C) A

D) T & IS e

FAY o U TRTRR 3t Aftenad s

JEw s ) Aig)

A) 50% B) 78.5%

C) 80% D) 25%
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TR - B (Electronics Mechanic)
2’s complement of binary 0101 is
A) 1110 B) 1010
C) 1011 D) 0000

An ideal Op-amp has
impedance.

input

A) Infinite
B) High
C) Low

D) None of these

Maximum efficiency of Class B amplifier is
A) 50% B) 78.5%
D) 25%

In an Op-amp CMRR stands for
A) Common Mode Rejection Rate
B) Common Mode Rejection Ratio
C) Cross Mode Rejection Rate

D) Cross Mode Rejection Ratio

With Ohm’s Law no change in resistance
means that Current and Voltage will be

A) Directly proportional
B) Universally proportional
C) Same

D) Unable to produce energy

SPACE FOR ROUGH WORK

Tradesman — B




TR - B (Electronics Mechanic)
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19.

20.

21.

What is one disadvantage of an
S-R flip-flop ?

A) It has no enable input
B) It has an invalid state
C) It has no clock input

D) It has only a single output

With regard to a D latch

A) the Q output follows the D input when
EN is low

B) the Q output is opposite to the D input
when EN is low

C) the Q output follows the D input when
EN is high

D) the Qoutput is high regardless of EN's
input state

Which is not a characteristic of a shift
register ?

A) Serial in/parallel in
B) Serial in/parallel out
C) Parallel in/serial out

D) Parallel in/paralle! out

A universal shift register can shift
A) From left to right

B) Fromrightto left

C) Both A) and B)

D) None of above
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What is the function of the comparators in
the 555 timer circuit ?

A) to compare the output voltages to the
internal voltage divider

B) to compare the input voltages to the
internal voltage divider

C) to compare the output voltages to the
external voltage divider

D) to compare the input voltages to the
external voltage divider

What does the discharge transistor do in
the 555 timer circuit ?

A) charge the external capacitor to stop
the timing

B) charge the external capacitor to start
the timing over again

C) discharge the external capacitor to
stop the timing

D) discharge the external capacitor to
start the timing over again

A counter is fundamentally a

sequential circuit that proceeds through the
predetermined sequence of states only
when input pulses are applied to it.

A) Register

B) Memory unit

C) Flip-flop

D) Arithmetic logic unit

SPACE FOR ROUGH WORK

Tradesman — B




TR - B (Electronics Mechanic)

26.

27.

28.

30.

wifeifea @@ H, 1 = wfaffe
FTE |

A) B) A%

c) smdees D) T T fE
o -1 ST BIeeRE R

p) At faxm & uierterd feram STt
B) awsﬁ&éﬁﬁr@m
C) T ST O HIE! R
D) oty T G 1e) amesh T it

o w98 B T T |

A ST Tl SR

B) W STIfshaT T

C) = Al

D) YT Y TERTYN 1 I I ST

T TS § |
A) w15 S B) de WH
C) TEHGH D) A) it C) &t

Wmﬁmmaﬁaﬁmﬁﬁﬁ
3 i R HTTICGE FS ST bl A el
2 33w, S, et amfasRl
#ed &

A) Gl ZESE

B) wrerfireh T

c) fFfer ZasTEr

D) T Y FHSIH

AL 0O

26.

27.

28.

29,

30.

In positive logic, 1 represents
A) ON B) OFF
C) A low voltage D) A false statement

A P-N Junction photodiode is

A) operated in forward direction

B) encased in anopague package
C) a very fast photo detector

D) dependant on thermally — generated
minority carrier

Bulk type photoconductive cell have
A) wide spectral response

B) small response time

C) high cost

D) high dark to light resistance ratio

is a transducer.
A) Loud Speaker
B) Cell Phone
C) Microphone
D) Both A) and C)

The transducers which requires an external
power and their output is a measure of
some variation such as resistance,
inductance, capacitance etc., are called as

A) Active transducer
B) Primary sensor
C) Passive transducer

D)- Self generating transducer
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TR - B (Electronics Mechanic)
Strain Gauge is a device.
A) Electrical
B) Electronics
C) Mechanical

D) A) and B)

The signal to be observed on the screen
of an oscilloscope is applied

A) Across its X-plate
B) Across its Y-plate

C) To the horizontal amplifier

D) To the trigger circuit

circuits

Digital instruments use
and techniques to obtain measurements.

A) Analog
B) Logic

C) Linear
D) Optical

CMOS family uses only

A) MOSFET and resistors
B) NMOS circuits |

C) MOSFETs

D) Bipolar transistors

SPACE FOR ROUGH WORK

Tradesman - B




TR - B (Electronics Mechanic)

35.

37.

Fefreet diefieh o v T Frefafea §
3 o7 otremer fifda ot w0 w

BRcicak R

A) =ert % ot g0 |

B) T e o5 Gy Fetieh ST 1 ¥le Ll

c) ufhe™ % g o 1 wft

D) mw%mmﬁaﬁ@w
F Uk Ferdie: SO Gehdl o fIg

feeforrat ool w9 2

A) Sehifers fefter Stredt
B) defifarsi {ig 3l
c) ergn fersi feefiar atredt
D) 2rgn T e el

et Reew W R g EA
afra ST #

A) TEH

B) e

C) draem

D) Y&TH

i ¥ 3o P H fawda
0 ¥ e S S SR R
A) st

B) AT

SRS

D) Sidien

I|IIlI|I|lIIlIllI||II|IIl|IilII|II|I|| 0 00 O O

35.

36.

37.

38.

Which among the below mentioned
assertions is not a way of cross-talk
reduction while designing digital PCBs ?

A) Decrease in the distance between
conductors

B) Shielding of clock lines with guard
strips

C) Reduction in the loop area of circuits

D) Avoid running of parallel traces for
longer distances especially for
asynchronous signals

Full form of TVRO is

A) Television Receive Only
B) Television Read Only

C) Time Vision Receive Only
D) Time Vision Read Only

Active information is transmitted in T)
signals by

A) AM
B) PM
C) PAM
D) FM

The most suitable device for high frequen
inversion in SMPS is

A) BJT

B) IGBT |
C) MOSFET

D) GTO..
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TR - B (Electronics Mechanic)

Bluetooth transreceiver devices operate in
band.

A) 2.4 GHz ISM
B) 2.5 GHz ISM
C) 2.6 GHz ISM
D) 2.7 GHz ISM

Who is the inventor of cell phone ?
A) Martin Cooper B) Joel Engel
C) Robert D) Willson

The maximum permissible transmission
rate of message is directly proportional to

A) signal voltage

" B) signal current

C) signal power

D) channel noise

The destination is the
A) transmitter B) receiver

C) conductor D) none

Sometimes computers and cache registers
in a food mart are connected to a UPS
system. What does UPS mean ?

A) United Parcel Service

B) Uniform Product Support

C) Under Paneling Storage

D) Uninterruptable Power Supply
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44. In cables, water is prevented from fillin
the spaces with resistal
compounds.

A) moisture

B) pressuré
C) temperature

D) stress

Why are plastic clad silica fiber optic cal
not used widely ?

45.

A) Difficulty in connector application
to excessive plasticity in cladding
|

B) Difficulty in bonding
Q) insolubility i
D) Allof the above

n organic solvents

Which answer from the following i
major advantage of switched mode
suppliés over series regulated sup

A) Switched mode supplies create
amplitude ripple waveforms tha
regulators

B) Switched mode supplies dissip
power inthe control element tha:
regulators |

C) Switched mode supplies provi
regulation at low power th
regulators

D) Switched mode supplies Wor
re more efficient th
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TR - B (Electronics Mechanic)
The velocity of light is independent of
A) Wavelength
B) Medium refractive index
C) Frequency
D) All of above

Splices are generally fibre joints.

A) Temporary
B) Hard
C) Permanent
D) Butt

What is/are the consequences of driving
the LED in the form of an output function ?

" A) Pinsources the current when made low

without glowing LED

B) Pin sinks the current when made high
without glowing LED

C) Pinsources the current when made high
by glowing LED

D) Pin sinks the current when made low
by glowing LED

LCD monitors often have a smaller
than CRT monitors.

A) refresh rate
B) viewing angle
C) color depth
D) price
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51. 6 51. G
SYMBOL SYMBOL
E‘TQ?RT = ¥ Tefich ! The figure above represents symbol for
I ® | A) First Angle Projection
A) VO O IETT B) Third Angle Projection
B) ?ﬁﬁqﬂﬁmﬁm C) Second Angle Projection
) WWEW D) None of the above
D) Il # ¥ IS T
52. |f the sheet size A4 represents 210 x 297
52. 7f2 st TTE Yiie & 1Y A4 3T 210 x 297 tor timmed sheet, then A3 size of trimmed
it 2, A TE T T A3 SRR sheet is
A) 420 x 297 B) 210x 594 . A) 420 x 297 B) 210 x 594
C) 297 x 420 D) 594 x210 C) 297 x 420 D) 594 x 210
53. @mﬁq-ﬁqwaﬁ ___——W% 53. A Cutting Plane Lineis represented in the
& 3 ifa B s ? | : line form of
A) fria it A) Continuous Thick ;
B) frrat warett B) Continuous Thin |
C) wft = vt A C) Long Chain Thin Line |
D) @l 3 T 3 & Al LSRR D) Long chain line thick at ends and thi
TR Al elsewhere
54, e HTR 1:100 a@@d 21| 54 Inthedrawings, the scale 1:100is actuall
A) 0 A A) Full scale
B) EIewT TR T ‘ B) Reduced scale
C) R T TR C) Enlarged scale
D) &H et D) Same scale
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55. e IR AR 7 55. Whatis first aid ?
A) SR 1 9= 1 Wil Iu9R A) Initial care of the ill or injured
B) WIehiceh Tarati sht e o wem ook B) First response to natural disasters
C) wrufirek IR fre #1 Wi 8 FE R C) How to use a first aid kit
D) T U fe 1 Tefarea IR D) Medical treatment of an injured person
56. whecd X TTeTh T SGAYH I W@ K A | 56, The thickness of the layer of insulation on
Rl ® the conductor in cables depends upon
A) Sfafsra aier A) Reactive power
B) iR & B) Power factor
C) TS C) Voltage
D) TE T8 &man D) Current carrying capacity
57. AR AR O Pk IHAH, AR AT | 57.  In case of three core flexible cable, the
BaTe | colour of the neutral is
A) e A) Blue
B) T B) Black
C) Tehe C) Brown
D) & D) Red
58. 10Q (W) & YA F sAR qrTsgA o | 58. 10Q resistor carrying current of 5 A, then
wiferr femert B0t ¢ find the power.
A) 50 qE A) 50 watt
B) 250 dic B) 250 watt
C) 500 die C) 500 watt
D) 100 i D) 100 watt
SPACE FOR ROUGH WORK
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51. . g“m

3‘1@7“3 i c [T O . % iR el The figure above represents symbol for
g @ | \ A) First Angle Projection

A) o 0 TR B) Third Angle Projection

B) e T HE C) Second Angle Projection

C) Hid F ET D) None of the above

D) ST F ¥ KT

52. |f the sheet size A4 represents 210 x 2f
for trimmed sheet, then A3 size of trimm

52. 72 g et % fAT A4 STERR 210 % 297

i &, A TS e A3 TR E sheet is ‘
A) 420x297  B) 210x5% p) 420x297  B) 210x5%4
c) 207x420 D) 594%210 C) 207x420 D) 594x210 |

i

53, U FHET-H AT = AE S | 53, ACutting Plane Lineis represented in
= 7 2 fR IR | line form of
A) Frae A A) Continuous Thick
B) i vaeh B) Continuous Thin
C) el 3 et T C) Long Chain Thin Line
D) wwafl < A SLERIE SUEIIREE D) Long chain line thick at ends an
T uaA! elsewhere
54, QN A TR 1 . 100 IRa | 21| s4. Inthedrawings,the scale 1:100is a
A) T = A) Full scale
B) HZM™ T e B) Reduced scale
C) wern LRI C) Enlarged scale
D) &AM & D) Same scale
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65. T I eI eh Tl
* T ol TaweH, g IR i & ferg
A Y S o forg ferm S # |
A) ST IR
B) TgF AR
C) fem

D) & Heteh o1 TR

66. _  =iers iR s # vaen s
T ¥, T forg W A ST § IR AE
aeft s | oft we B @ of g
LR A HEfeT o fore @ o ST ®
A) R BTE :
B) 314 Mt ®Ed
C) M BT
D) I # ¥ ¢ e

65.

TR - B (Electronics Mechanic)

What part of Soldering Iron shouldn't you
touch ?

A) The plug B) The handle
C) Themetalpart D) The wire

are hand tools specifically
designed to insert and tighten or to loosen
and remove screws.

A) Pliers
B)
C) Electric drill
D)

Screwdrivers

Hammers

is used for holding, bending and
stretching the lead of electronic component
or connecting wires.

A) Cutting Plier

B) Combinational Plier
C) Striper

D) Long Nose Plier

is tapered in width and thickness,
coming to a point and is narrower than a
standard half round and used for filing inside
of rings. '

A) FlatFile
B) Half Round File
C) RoundFile

D) None of the above
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enfw __ ®1
A) TR FET ST

- B) TIHM FEEA IR

C) TR STEAATHTE
D) A =i STHT

@nﬁrm?‘cﬂ%mmm____%
R T EEA S |

A) %ad DC

B) %ad AC

C) AC it DC R

D) MA@ ACTE DC

e & & A T itk e
mwwﬁ%wméﬁag—nqﬁm
0 3 fore e fohan S @ 7

A) BIEESHEE

B) R SrafeeT i

C) Tersd

D) ehffr i
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67.

68.

69.

70.

An ohmmeter is a

A) Moving iron instrument
B) Moving coil instrument
C) Moving dynamometer

D) Moving plate instrument

A moving iron instrument can be used for
A) DC only

B) AC only

C) Both AC and DC

D) Neither AC nor DC

Which among the following is provided by
an optical receiver for the regeneration of
data signal with minimum efror ? |

A) Photodiode
B) Signal processing circuit
C) LED

D) Linear circuitry

In an optical fibre, the concept of numerical
aperture is applicable in describing th
ability of

A) Light scattering
B) Light dispersion
C) Light polarisation
D) Light collection
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71. 4T SRS A B H Sl T R St R 7 71.  Which battery is used in aeroplanes ?
A) ;{l‘;‘ e S A) Dry cell battery
B) s e =R B) Lead acid battery
C) *q%-gqa—a C) Edison cell
D) T A1 T D) None of these
72. e R ?ﬂ'\q F AeRE A S 2 S 72. Aharddiskis divided into tracks which are
' ; further subdivided into
AT A Sufasniome R S € | &
A) Clusters
D B) Sect
ectors
B) dved
C) Vectors
C) g
D) None
D) I3 el
. 73: A Transformer
A T R A) Changes DC to AC
A) et o el F e @ B) Steps up or down AC Voltages and
B) TH dices 3R I ! SIgTal 91 9wl & Current
C) S diees R HE i TN I 9T 8 C) Steps up or down DC Voltages and
D) weht % St § wewr & Current
D) Changes AC to DC
74. U Fmw ZrEwnR i yE0 g weRdt
ﬁﬁ@%ﬁﬁﬁﬁqﬁaﬁaw%mm 74. A special transformer used to convert
2 3 unbalanced signals to balanced signals is
ST & 3UehT AH the
A) g i,[ A) autotransformer
B) -2 7 TR B) center-tapped transformer
C) u-IFHTE FEBAR C) step-across transformer
D) s D) balun
SPACE FOR ROUGH WORK
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75. m@gﬁgmﬁaémﬁ, AIT R ACeS ‘ 75.  When adiode is forward biased, the voltage
A) YeaE &9 i T % G A g RSl
' B) WE €9 3 o At ¥ T F A) is directly proportional to the current
Ui} B) is directly proportional to the source
voltage

C) ST T T

D) HE % ST

C) remains approximately the same

D) is inversely proportional to the current

76. 7812 e SEH Y& F
A) 5V B) -5V
C) 12V D) -12V

76. The 7812 regulator IC provides
A) 5V B) -5V
C) 12V D) —-12V

77. e TR T SRS o T B §
A) TTH-3d AleeS Toed
B) Fol-39 sl S
C) FoI-3a for wivhe
D) 3w ¥ & 1 R

77.  Which rectifier requires four diodes ? |
A) Half-wave voltage doublers i
B) Full-wave voltage doublers |
C) Full-wave bridge circuit

D) None of the above

78, SEHHH wwmaﬁzﬁqﬁaﬁ?%ﬁm

78. Voltage regulators keep a constan

R}, AR HSe _______ outputvoltage when theinput 0
Aees W@ ¢ | load varies within limits.
A) S A) DC
B) wHl B) AC
C) aut C) Ripple
D) ST & & IS T D) None of the above
79. 7905 fRiEeh ATEl WS HT 2 79. The 7905 regulator IC provides
A) 5V B) -5V A) 5V B) -5V
C) 12V D) -12V C) 12V D) 12V
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80.

81.

82.

e %t ggde 1 fHgr g |
A) € B) e )
C) T8 D) 31t

THEA TR IYHOTR |
A) Byt

B) Tyl

C) =’ e

D) ¥ @ 1S T

Tg 12 1 IMBYE AF & Hifeh
A) T FIE FH §

B) T TTYE AR & 3T g0q A
C) 31 3TYe Afreh &

D) IR # & g T

T R 98 0 ¥ 90 % e A
e SR & 2 i 180 270 H, TrTeRR
= SHET ST |

A) T T B) 9 <t

C) g gt D) ¥ Tl

8B3F, ! ATEHI H qiEfdd i |
A) 35647

B) 011010

C) 1011001111100011

D) 1000101100111111

80.

81.

82.

TR - B (Electronics Mechanic)

gate is also known as universal
gate.
A) NAND B) NOT
C) AND D) OR
FETisa device.
A) Bipolar
B) Unipolar

C) Fourterminal

D) None of these

The output of AND gate is high because

A) Both inputs are low

B) One input is high and other is low

C) Both inputs are high
)

D) None of the above

In an ampilifier it conducts during the cycle
from 0 to 90 and again from 180 to 270, the
amplifier will be termed as

A) Class A B) Class B
C) Class C D) Class AB
Convert 8B3F,4 to binary.

A) 35647

B) 011010

C) 1011001111100011
D) 1000101100111111
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8b. - Wﬁaﬁﬁmaﬁ Yufea | 85 The can conduct current in
FLEFHAT ® 3 S E 9§ ST Aees SRR either direction and is turned on when a
RG] st R SR | breakover voltage is exceeded.
A) THERR B) CadITE A) SCR B) SCS
C) Th D) ¢ C) Diac D) Triac
g6, TEHIT H ¥ wq § aem | 86 SCRmay be considered as
@ | A) Two diode model
A) 3 STt e B) Transistor model
B) ;[i _EE: iSel C) Two transistor model
©) A ;_ D) None of these
D) 0 A HIE T
g87. BJTis device.
7. sfioret EEau
8 i ¥ A) Bipolar
A) Tasgel! .
B) Unipolar
i @ﬂ?ﬂ C) Constant ¢ t
onstant curren
c) fer =
D) fer A D) Constant voltage
g8, oUH F g88. Triac has
A) Eﬁzﬁﬂa A) one terminal
B) 4 2ffa B) two terminal
C) R iCiAL Gl C) three terminal
D) =R efia D) four terminal
g9. Te™ T FHTE? 89. Which is longest ?
A) fo B) ¥TEE A) Bit B) Byte
c) F=a D) & C) Nibble D) Word
SPACE FOR ROUGH WORK
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90. HITdd TR | Fadd TR |

91.

A) FRX
C) o=

B) SR )
D) fRu-wata

oft feshe FR 4 B
A) 2 et FEeH
B) 3 sidiEt wRE
C) 4 g #F3ed
D) 5 sfiefit FEed
ITHO H ATSYE T SISk TG H R
e Ak 9 Fafa Seew

FE ¢ |

A) THEN
C) SAssitel

B) WUHgE!
D) A) 3R B) g

wiETer TeerRR § oTfi oTseye dawiH
I % fore forw wfthe & @ fmn
SR ?

A) faam

B) FATFR

C) Wik THRR

D) ¥ua Us Bee

T ST o 1Y IS AR A H

FEE
A) FENE
C) IS

B) A2
D) Ug T

90.

91.

92,

93.

TR - B (Electronics Mechanic)
Simplest registers only consists of
A) Counter B) EPROM

C) Latch D) Flip-flop

Three decade counter would have

A) 2 BCD counters

B) 3 BCD counters

C) 4 BCD counters
)

D) 5 BCD counters

Device having output conduction as BJT
but voltage controlled like MOSFET is
called

A) FET
C) IGBT

B) JFET
D) Both A) and B)

Which circuit is used for obtaining desired
output waveform in operational amplifier ?

A) Clipper

B) Clamper

C) Peak amplifier
D) Sample and hold

An OR gate linked with an invertor is called
A) NOT gate
C) NAND gate

B) NOR gate
D) AND gate
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N\

0 A AR

NS

mﬁqm%ﬁwmﬁ:\qéﬁ@qnq% 7 What form of displacement sensors are
A) S anfte e shown ? |
B) Emlﬁ @ﬁm A) Inductive proximity sensors
C) - B) Absolute position encoders
D) T fmEe C) Opto-switches
D) Potentiometers
96.  ierc e
A) FCE 96. Fastest Logic
B) URITHATE A) TTL
C) e B) LS|
D) TS C) CMOS
D) ECL
97. Freh i aeaEt yfaffera
FEel : 97. represents magnetic transducer
A) TEEIE A) LVDT
B) &A1l B) Strain gauge
C) eI C) Thermocouple
D) m—‘ﬂ'ﬁ‘lﬁﬂﬂﬁﬁ D) Photoconductive cell
g8. TTHHIEM e HEIH | 98 A Microphone is classified as
arfiepa T 2l transducer.
A) S A) Thermal
B) 3ffeehet B) Optical
C) TEh C) Magnetic
D) EAfehal D) Acoustical
SPACE FOR ROUGH WORK
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99.

100.

101.

102.

TSt & s T o fo
ST &1

A) ediere B) dic

C) dlea D) %4

% T ogfd A % ergen
Iod T Glehed Nt & w1 & T9d®
gysH o fR 9 € I @ S 2

A) T TEM % g

B) forafera e & s/amma & forg
C) TR ) T Y9 A & 1w
D) Iwaa axfi

frefiet s aTefere AT ohT HeaTehT
% YR R foram s EHaT |

A) Hidiet TR oM wefma
B) wigd o T&

C) st w 7wt

D) IWiad @t

qEA O AT RSS! Y Tehd & forw
Tore WeRR o efTelt T Iuehter |15e W =Had
Aeehir i st Bl @ ?

A) Rre wrgee ffisht

B) Tt Hrges didiet

C) A) 3 B) i

D) I # & &id e

99.

100.

101.

102.

TR - B (Electronics Mechanic)
Noise level is expressed in
A) Decibel
C) Volt

B) Watt
D) Phon

High current circuits are purposely located
or placed near the edge of PCB in
accordance to the supply lines for

A) Removal of heat

B) Isolation of stray current
C) Reduction of path length
D) Ali of the above

-The actual cost of PCB can be evaluated

on the basis of
A) PCB size and material
B) Number of layers

C)

D)

Vias on PCB
All of the above

Which type of PCB requires minimum
soldering on component side in order to
avoid replacement oriented difficulties ?

A) Single-sided PCB
B) Double-sided PCB
C) Both A) and B)

D) None of the above
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103. O U H ngqtﬁqa ifra e v e | 103 Which should be used as a switch in low
N INRCTIRS power SMPS ? ‘
NEEE B) THSATHTEL A) GTO B) MOSFET
C) SomeTiE D) IERER C) TRIAC D) Thyristor
104, TSR PAC LG ALY SeeTEe i 2 104. Backlight source for LCD TVis
A) TATEE A A) Fluorescent Lamp
B) UEgel B) LED
C) BIIEHE C) Photodiode
D) EeEl D) OLED
105. uerel A T 3@ F R TaEd At & | 105, Viewingangle of LEDTVis than
?1 LCD TV.
A) ferm B) I& A) More B) Same
C) & D) T QIS T C) Less D) None of these
t0p. S-sivene % w, i iz e oo ¥ | 106 'With the E-MOSFET, when gate input
A FEE: voltage is zero, drain current is 1
A) g A) Atsaturation
B) Y& B) Zero
C) lpss C) lpss
D) =t T LAl D) Widening the channel
107, ieETH &1 & 2 107. GSM stands for
A) T9 A AEEA A) Group Special Mobile
B) e fiReeH B Haga B) Global System for Mobile
C) Taa W@ B EICIE] C) Global Special for Mobile
D) SHI § A g T& D) None of the above
SPACE FOR ROUGH WORK
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108. @aﬁmmﬁ,éﬂaﬁmﬁg@ 108. In an optical network, increase in the
Ffr = 2 number of lasers __ thebitrate.
A) St A) Increases
B) R @ B) Stabilizes
C) wedt C) Decreases
D) I @ RS T D) None of the above
100, TrefrRas Toa e 3 @ Rray A ah 109. V\'/hlch-amor.mg the following mlsal|gnmepts
. | give/gives rise to the occurrence of splice
H T § FRE A R ? loss 2
A) BESR o ST Toham] %aﬁam% A) Longitudinal separation between the
EAURCEISE] end-faces of fiber
B) WIEeR o i1 o SIS IV e B) Angular tilt between fiber ends
C) BTEsR & HHI % o= fotesT o1fede C) Transverse offset between fiber ends
D) IWiaa asft D) All of the above
110. {Jq: FAeE ved § S A g | 110. Basically, solitons are pulses which
WWWW%W@W%I propagates through the fiber without
: showing any variation in
A A) A gI't :jl
mplitude
B) am i :
B) Velocity
©) C) Sh
ape
D) I9h geft
D) All of the above
: EEUIES) H gehal *
m 2::[ g ﬁ{\@lﬁ b e 111.  Which optical devices are adopted or
A SHATEHA IJTHTT AT ST & 2T applicable for routing signals from one
T R S R 7 waveguide to another ?
A) IFfLhT FaTET A) Optical Combiner
B) Affeshd fax B) Optical Splitter
C) ATl HITR C) Optical Coupler
D) Wi § ¥ 1S & D) None of the above
SPACE FOR ROUGH WORK
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112

113.

114, T Al BIET _

ﬁmﬁi@a@ﬁ@aﬁqmmmﬂﬁ
ﬁﬁaﬁawﬁﬁﬁwﬁ@ﬁﬁaﬁm
s i TR R 7

~

Ts
%ﬁw:mmmw@%ﬁm
i

p;) gl

B) &

C) gl

D) e
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112.

113.

114.

Which answer from the following list is @
disadvantage of switched mode power
supplies compared with series regulated
supplies ?

A) Switched mode supplies are less
suitable for high power applications

B) Switched mode supplies are more
expensive to implement than series
regulated supplies

C) It is more difficult to prevent high
frequency electrical interference in
switched mode supplies

D) Over voltage protection is not possible
in switched mode power supplies

What is full form of SMPS ?

A) Switch Mode Power Supply

B) Simple Mode Power Supply

C) Storage Mode Power Supply
D) Storage Mode Power Shortage

|
An optical fibre isa rod usuall

made of glass or a clear plastic.
A) Transparent

B) Hard

C) Rough

D) Plastic
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115. e vadtet mifiet & | 115.  The monitor is similar to the
UM 7, AfhT 30 9dl & i BramReEe LCD monitor, but has a phosphorescent
rer a2 | film between the layers.

A) o e feoas (Suereh) A) Electro Luminescent Displays (ELD)
B) TATSHT fSets B) Plasma displays

C) TR-a73e oot C) Paper-white displays-

D) Rm-fhem Zifvrex D) Thin-film transistor

116. TAHIE) 1 %19 97 U9 35 fawgar &1 | 116 Which pin of the LCD is used for adjusting

T G % T s fr srar @ 7 its contrast?
A) T 4. 1 "A) pinno. 1
B) fma. 2 B) pinno.2
C) =g 3 C) pinno. 3

D) R 4. 4 D) pinno. 4

117. 16*2% STTHITAT TS A fera-fi ufdraf | 117. How many rows and columns are present
IR Fiem A= € ? in a 16*2 alphanumeric LCD ?

A) TfFRHET = 2, HiaH = 32 A) rows = 2, columns = 32
B) Uf&mal = 16, FaH = 2 B) rows = 16, columns = 2
C) ufwmf = 16, Fiaw = 16 C) rows = 16, columns = 16
D) ufeRkml = 2, FieH = 16 D) rows = 2, columns = 16
SPACE FOR ROUGH WORK
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118. R fg@m T o § 9= 2 e The Image shown below, is an assembly
eRta | showing
A) Stud and Nut
A) &8 I T )
B) W8 iR diee B) Stud and Bolt
C) & M C) Screw and Nut
. D) EweIdTE D) Bolt and Nut
119, 3R FTTRT SR %“iml’ ired 3 Sl If Helmets, Goggles and Gloves are used
s o S % T T wd ¥ 14 3 by worker, then it means they are
g
A) Fire Fighters
A) f e
B) fyfor wTéz 3 HEITR B) Construction Site Workers
C) W Tree & HIL C) Metro Site Workers
D) gt T 1 I R D) Following Safety Standards
120. M8 AfF I8 I Fe i & o & B To prepare a hole for cut tapping the metric
TR HA ¥, FgT 1 AR B thread M8, the drill size should be
el
A) Equalto 8 mm
A) 8 mm 3 ST
B) 8mm JFm B) Less than 8 mm
C) 8 mm ¥ AR C) More than8 mm
D) IR A F EQRE D) None of the above
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